Wednesday, April 22, 2020 3:00 PM

- Pynamic array

capacity =
$$1 = 0$$

length = $0 = 0$

add(1)
$$\Box$$
 $c = l = 1$

add() add(8)

after:
$$C=2^{k+1}$$
 (=2*+)

ggregate method.

amortized cost of add = $\sum_{i=1}^{n} cost for i-th add operation$

N
$$\times$$
 comortized cost = $\sum_{k:2^k+1 \leq n} (2^k+1) + \sum_{l \leq i \leq n} (2^k+1)$

@ light operation

Theavy operation

Cost

assume
$$N = 2+1 = \sum_{k=0}^{t} (2^k + 1) + \sum_{k=0}^{t} (1+2^k + 1)$$

$$= \sum_{k=0}^{t} 2^k + \sum_{k=0}^{t} 1$$

$$= \sum_{k=0}^{t} 2^{k+1} - |= 2n-3$$

$$=3n-3$$

amortized cost =
$$\frac{3n-3}{n} \leq (3) = O(1)$$

- accounting (charging) mothod - between two heavy operation idea: to pay for the heavy operation i= 2 +1 charge some of that to the light operations in between (ost of heavy) 2^{k+1} ≈ 2 # of light op. > 2 K(1)
charging to charge 2 for every light operation charging New cost for light operation: |+2|=3new cost for heavy operation: $2^{k+1} - 2(2^{k}-1) = 3$ = after dranging, every operation has rost 3, amortized rost = O(1) potential argument. D: function on the state of the system C : capacity (= length light operation T=1 (c,l) \rightarrow (c,l+1) A = T - (2l-c) + (2(l+1)-c) (Potential+2) =3

Lectures Page 2

amortized cost = $\frac{5}{n} \leq (3) = O(1)$

heavy operation $i=2^{k+1}$ $T=2^{k}+1$ $(2^{k},2^{k}) \rightarrow (2^{k+1},2^{k}+1)$ $A = T - (2\times 2^{k}-2^{k}) + (2\times (2^{k}+1)-2^{k+1})$ $= 2^{k}+1-2^{k}+2=3 \quad (\text{Potential}-(2^{k}-2))$